Discards

Discards are one of the most effective tools in passing information between defenders. When following suit, more often than not, we are required to play specific cards, often our highest, to either win a trick or promote a trick for our partner. When we discard, we usually have several choices. There are several popular discarding conventions. I prefer Odd-Even, with Upside Down a close second. No matter your agreement, there is usually a discard available to get your message across. For this lesson, we will be using Upside Down discards. If you are using a different method, try to picture which card you might pitch to send the same message.
I.
Try to keep length parity with the dummy for as long as possible.

North






♠ A Q 9 3






♥ 7 6 4






♦ 5 4






♣ K Q J T



West





East (you)
                     ♠ J 8





♠ T 7 5 2



♥ K Q J T 5 2



♥ 9 3



♦ A 8 2




♦ J T 9 7



♣ 8 4





♣ 7 6 5






South






♠ K 6 4










♥ A 8













♦ K Q 6 3












♣ A 9 3 2



Opening Lead: ♥K
South wins the second heart and plays the ♣A and plays 3 more clubs. On the third club, West discards the ♦2 relieving East of a nasty decision on his next play. Now, when the 4th club is played, East can discard a diamond with no pain.

But what does East discard on the 4th club if West follows to the first 3? East reasons thus: “A diamond discard is costly when South started with ♦AKQx or ♦AKQxx – however in those cases declarer has 9 tricks anyway (because you know the spade finesse will work if needed). A spade discard will cost the contract whenever declarer has ♠Kx or ♠Kxx and partner holds the ♦A, for then declarer has only 8 tricks if he can not take 4 spades. Thus, a diamond discard is still correct.”
II. With a choice of discarding an encouraging card in a suit you want led, or a discouraging card in a suit you do not, it is almost always right to make the discouraging discard to maintain the original length of your strong suit. (Particularly at No Trump)

This should not be confused with the preceding example in which the strong suit was already established. West then signaled with a low diamond to show East his entry, at the same time informing East that he could safely discard diamonds. 
North






♠ Q T 7






♥ 7 6 5





♦ 7 4






♣ J T 9 5 4


West





East (you)
                     ♠ 9 8





♠ 6 5 4 3 2


♥ K 9 3




♥ A Q 8 4


♦ J 8 6 3 2




♦ T 5


♣ A 3 2




♣ 8 6





South






♠ A K J










♥ J T 2












♦ A K Q 9












♣ K Q 7




Opening Lead: ♦3
South wins the opening lead with the ♦K (but West knows that South started with ♦AKQ9 from partner’s play of the 10) and plays the ♣K, which West ducks. East starts a count signal with the ♣6. West now knows to take the third club and East must make a discard. He has the choice of a high spade or a low heart. The high spade is best – by far.
If East discards the ♥4 (the setting trick no less), and West dutifully returns a heart, the defenders will only be able to cash 3 tricks in the suit and declarer will take the rest. If East discards a high spade, (which should be equivalent to discarding a low heart), he retains his heart length and the defense takes 4 more heart tricks to defeat the contract. 

III.   When discarding from an honor sequence, a discard of an honor promises the honors underneath, and denies the honor above.  This holds true for ALL discarding methods.
North






♠ K 7 6






♥ K 4






♦ K Q J T 6






♣ 7 3 2



West
(you)




East 
                     ♠ J T 9 4




♠ 5 3 2



♥ T 9 3 2




♥ J 7 6



♦ 8 7 5




♦ 3 2



♣ K 4





♣ Q J T 9 8






South






♠ A Q 8











♥ A Q 8 5













♦ A 9 4













♣ A 6 5

Opening Lead: ♠ J

Declarer wins with the Ace (but he’s not fooling anyone).  Next comes 5 rounds of diamonds and East has the opportunity to make an incredibly helpful discard. He pitches the ♣Q (showing at least the ♣J and ♣10) followed by the ♠5 and then the ♠3. On the fourth diamond, West has to make what could be an embarrassing discard – (he doesn’t yet know that declarer didn’t start with 4 spades). East’s alert discard tells West that it is safe to discard both clubs and keep his length in both majors. West is rescued from making a disastrous heart pitch which allows the grand slam to make. 
IV. When discarding from a suit that you obviously don’t want led, give the count signal

North






♠ T 4






♥ 8 3






♦ K Q J 9 6 5






♣ 9 3 2



West





East (you)
                     ♠ 8 5 3 2




♠ J 7



♥ 9 5 2




♥ Q J 7 6 4


♦ A 3





♦ T 8 7 2



♣ Q J 8 4




♣ K T 






South






♠ A K Q 9 6











♥ A K T 













♦ 4














♣ A 7 6 5


Opening Lead: ♣4
East wins the ♣K and returns the ♣10. South errs by ducking and West overtakes and leads the ♣Q pinning dummy’s ♣9. East must find a discard. East realizes that his diamonds are worthless if South holds ♦Ax or West holds the singleton ♦A. The only critical case occurs when West holds ♦Ax and won’t know whether to win the first diamond or hold up. Therefore, East discards the ♦2 (UDCA) to give partner the count. West reads the discard as being from a 4 card suit (if it is from a doubleton, the hold up is pointless as declarer would have 3 diamonds), and wins the first diamond lead. South must eventually lose 5 tricks. 
V. When you want a lead in a suit you can’t discard, make a negative discard in the suit that partner is most apt to lead. 
North






♠ 9 8 5





♥ 9 8 6





♦ A Q T 4





♣ Q 8 7


West





East (you)
                     ♠ J 4 2




♠ 3


♥ T 2





♥ A K Q J 7 



♦ 9 5 3




♦ J 7 6 2


♣ K T 6 4 2




♣ J 9 5





South






♠ A K Q T 7 6





♥ 5 4 3






♦ K 8

Opening Lead: ♥ 10

♣ A 3


East overtakes and cashes 3 hearts. What should West discard on the third heart? The club shift seems obvious, so West discards the ♣10 to discourage the “obvious” shift. An expert West would discard the ♣K (denying the ♣A), screaming for a fourth heart, however the ♣10 sends the same message and won’t scare partner to death.
VI. When discarding from a suit partner has led, discard the card that gives the current count in the suit.

*Note: When a suit is played the SECOND time, count is given using STANDARD CURRENT COUNT. Don’t assume partner understands this play without discussing it first!

North






♠ 7 4



West





East (you)
                     ♠ A T 8 5 3




♠ Q 9 6 2






South







♠ K J
Assume South is playing a no trump contract and West leads the ♠5 to the ♠Q and the ♠K. West now knows that South holds the ♠J but he does not know that it will fall. If East has a chance to make an early discard, he pitches the ♠2 (low from the current count of three) to show an original holding of 2 or 4 cards. Since a good player rarely throws away his only card in partner’s suit, West can safely assume that East started with 4, and if he is able to gain the lead later, can bang down the ♠A confident that it will drop the stiff the ♠J.
North






♠ 7 4



West





East (you)
                     ♠ A T 8 5 3




♠ Q 9 2






South







♠ K J 6
Again, West leads the ♠5 to the ♠Q and the ♠K. If East gets the lead early in the hand, he returns the ♠9, the higher of his two remaining cards. If, East has to make a discard during the course of the hand, throws the ♠9  – (the same card he would have led) giving the current count (two), to show an original 3 card holding. 

North






♠ T 5


West





East (you)
                     ♠ Q 9 8 3




♠ K J 7 6 2





South







♠ A 4
Assume South is playing a heart contract and West leads the ♠3 to the ♠K and the ♠A. If East later gets the lead, his (classic) return was the ♠6, his original 4th best. If instead East got the chance to discard a spade, he discarded the ♠6. If he got a second chance to discard he plays the ♠2, showing an original holding of either 3 or 5 cards. There is some modern theory available to make the count easier to read. After playing the ♠K the first time, East returns the ♠7 (high from a current count of even). If East instead gets a chance to discard, again he discards the ♠7 (high from a current count of even).  Remember, the bidding usually furnishes the necessary clues to partner’s and declarer’s distribution. Discarding to give proper count will frequently keep partner from giving declarer an embarrassing ruff-sluff. By switching to STANDARD current count after the suit has been played once, the leads are consistent with the discards, and the defenders will rarely misread the count signals. 
S   	W  	N   	E   


1NT	2♥	3♥*	Pass


3NT	All Pass


		     *Stayman





S   	W  	N   	E   


2♣	Pass	2♥*	Pass


2NT	Pass	3NT	All pass


		           *Negative





S   	W  	N   	E   


2NT	Pass	4♣*	Pass


4♦**	Pass	7NT	All pass *Gerber		     ** 0 or 4 Aces





N   	E  	S   	W   


2♦*	Pass	3NT	All Pass


 * Weak Two Bid





E   	S  	W   	N   


1♥	Dbl	Pass	2♦


Pass	2♠	Pass	3♠


Pass	4♠	All Pass























